


Our Values

¢ Innovation is part of us

* We embrace change as an opportunity to improve

* We take accountability on given commitments

* We give back to our community

* We are committed to honesty and transparency

* We work with integrity and high moral values in all business dealings

History

Buldoor was started as a family company with one purpose in mind, and that was

“To provide the best quality products with a great customer service in a more efficient and innovative manner, in

manner, in order to help our clients gain and maintain their competitive advantage to succeed in their respective markets”
This purpose has become our mission, and ever since we opened our doors in 2001 it has been our guiding star!

Our commitment for quality, service, efficiency and innovation has guided us to become one of the most successful
international supplies of goods around the world. With our corporate headquarters located in Southern California,

our market reach stretches out from North to South America.

“To provide the best quality products with a great customer service in a more efficient and innovative

manner, in order to help our clients gain and maintain their competitive advantage to
succeed in their respective markets”

e
(il
E
[1]
TE




Quality you
can trust

SUNHAINOD

REHL =&
Furnture feet wheel series

Tk %8 7= f

Industry feet wheel series

AL fF & 5

Accessories series

Page01-14

Pagel15-18

Page19-20




W Buldoor

%j—:n_».
Installation indication

L)
FREse BETR
MrENZE (RPas B4, gEireRm) FEil, AETATESE, BEEREHFTEL D,
Flatbottomed wheel Short barwheel
Steel piece positioning installation(use aueo screws, Firstdrill hole,then strike in embedded part,and
suggest using 4 scres for each wheel) the ptress the wheel in the hoie.

LA IRA | @Q
‘/T\
) (o

A T R 42 ZF 5

BRI RE BUESRRHENA 5ELY) S, RETABETESG, BHELEZEN,

Fiat bottom furniture wheel Wheel with sctews

Positioning installation of steelpieee,(It'suggested First drill hole,then strike in relevant emdedded part,
to use four screws for each furnite wheel) and then screw in forinstallation



W Buldoor




W Buldoor

27F K BEHE (T )

2—inch large sized wheel (without brake)

T EEMY ( ¥ )/Optional fittings (iron)
A.M10x15

B.10.8x20x20

| | ||

3 Z2 /Stand .

# #:PA /Material: PA

» 1% PA+PUSPP+PVC
Side wheel:PA+PU or PP+PVC

0o
da

BEAEICM)

Packing specification (CM)

Q|

(1|

@49

55

58

82

30

58.5x28.6x27
200pcs/package




W Buldoor

2~F, 2.55F hBEE

2-inch, 2.5—-inch middle sized caster

EER Y (% )/Optional fittings (iron)

A.M8x15

$

B.10.8x20x20

» 37 48 /Stand .

# ¥} :PA/Material: PA

S ih # - /Side wheel: .

7 Bl PA /Material :PA

2~F D50 43

o.

o
7N\ |

s

BEHIEICM)

Packing specification (CM)

47

77.5

30(KG)

2.55F D60 50.5

55

84

30(KG)

58.56X28.6X27
200pcs/package




W Buldoor

1.5°T & [ %

1.5—ich turning wheel

¥ %2 OMME
Stand: Iron 2.00MM thickness

RYPPEHEEREHIBE

Wheel: PP/color: black or white

ey

1.5~ @

1.5-ich Inserted link wheel

X %2 OMME
Stand: Iron 2.00MM thickness

RF PP REREE

Wheel: PP/color: black or white

$10.9

il

231

69.7

46.5




W Buldoor

1.2%

1.2-inch wheel

¥ 28 ( PA) /Stand ( PA)

# F ( PA) /Wheel: ( PA)

O |6 |0l ]|

®38.2 41 | 345 ‘ 38 57 25

1.5~ #(F#l)

28 ( PA)/Stand ( PA)

BF ( PA)/Wheel: ( PA)

I 40 4 64 25




W Buldoor




W Buldoor

1.57F/2~F B %8 (5 /72 1)

1.5-inch, 2-inch casters (with brake/without brake)

o EEHE ( £ ) /Optional fittings (iron)

A.M10X15
B.M8X15
i C38X38X1.8
Y =< \\"“’ —
1 = s
'[ =T
|
i3 ]
‘4"
—» X 38 /Stand:

diEME. FEE. &/
@ Optional material: Zinc alloy. Compound

of 15& 21 €& . /Optional colors:

A= BEEH

Red bronze Gun black Bronze lmltarlen gold

Ay Ay AR 7

T2 92 /Button =
7 Bl ¥ & & /Material: Zinc alloy

i % /Side wheel: o

7 #l:PA /Material :PA

M= NEW

Side cover: stainless steel

) BAEHAE(CM)
| l@L | f- \ L: ﬁl —\ é Packing specification (CM)
o =1 |

S U _ | : o e 40X27X25.8
1.5 | D38(mm) 544(mml | 38mm) | 60(mm) 43.5(enm) | 7imm} | 60(KG)

2t | ®50mm) | BAmm) | 43(mm) | 68mm) | 7lmm) | 85(mm) ESO(KG) BoNEends




W Buldoor
E T FEBT R Bl Lexus series 2.5 F B4 (/7 1)
2.5—-inch caster (with brake/without brake)

ATEE 4 ( £ )/Optional fittings (iron)
A.MB8X15/M10X15

B.47.56X47.5X1.8

AN
& Z2/Stand t\t;\\
ME. EE8€. 8

Material: Zinc alloy. Compound

15 & /Side wheel:
#®LPA(PA+PU)
Material :PA(PA+PU)

% §# /Button
1‘7_[' 5|‘3]—IPA/I\/IateriaI: PA

M fa/Grey 5 FE/Blue = fB/White 4 t8/Red 2 {&/Balck

fiu =5 : =7 1% B 2 15 e

Side cover: Optional colors:

! BEHE(CM)
Packing specification (CM)

@"MI
=

|80 | [

60(KG) 40x29x27

D61(mm) 42(mm) 50(mm) 82(mm) 95(mm)




W Buldoor

4T HE & %1 Hongai series

A.M8X15
it
i8 B.47x47x18
¢
s =
i —-t?"—*‘
- fea “,

®
.v — % % 48 /Stand
1 $}:$£ & € /Material: Zinc alloy
o—— :

& /Wheel

3-ABC+PVC
AE T : /Front: mfjrial:AB(;PVC

2t 3TRIE (T )

2-inch, 3-inch caster (without brake)

M 5/Grey 1K f8/Blue B fB/White 4] £/Red 2 f&/Balck

CAONON X

—» ] = /Side cover:
o] 1% Bl 2 2 B2 /Optional colors:

[ T /Back

lh C BBEMECM)
Packing specification (CM)

38(mm) 82(mm)

| ®50(mm) | 30(mm)

2~F

] 60(KG) |
_________ | 35x28.2x25.8

3+ @®©78(mm) | 68(mm) ‘ 68(mm) 100{mm) |

10



W Buldoor

3~ R #E (5 /T )

3-inch caster (with brake/without brake)

TTiEE M (% )/Optional fittings (iron)
A.M8X15

B:47.5X47.5X1.8

T
T

E";-j‘_\\

FHIStand w0
M. 6%, 5/

Material: Zinc alloy. Compound

T?I%?/Buttont

# #l: PA/Material: PA

L
g -
|
|

h R H RIPA

Side wheel material :PA

) 55 : 2] I 20 5 15 BT

& /Grey I fB/Blue [ /White £ f8/Red 2 {5/Balck
Side cover:Optional colors :

7 #L:ABS /Material :ABS . .

My ! I‘ BEMAECM)
rl ﬂ | \Lﬂ 5 | 3 Packing specification (CM)
| | ‘
\ . ;| _ _" u Uy @

100(mm) 130(mm)

B60(KG)
®82(mm)

1



W Buldoor

3T %

3-inch caster

813 152 391 Cdlac

R (B ) /Optional fittings (iron)

A:3\8GX 43.6

m B:M12X20 C:59Xb9X2.5

T i s -

‘ => _,
i =i
i J

e

W -

—» 32 48/Stand ‘

7 ’F—q- . PA /Material: PA

h#: M EIPA+PU

Side wheel material :PA+PU

% GE /Button b

# BL: PA/Material: PA

— W%’H’ﬂ:ABSO

Side cover Material: ABS

BIAIECM)

Packing specification (CM)

o |5 il

80

O

®75(mm) 63 34

12



W Buldoor

3~ R

3-inch caster

T E M (£ ) /Optional fittings (iron)

A:3\8GX 43.6
1R :
It liled C:59X59X2.5
-t ¢ ,J | =t ) ' 2
% { ‘n;;rzf““?:u" S
1 L=
®

» 2 %8 /Stand ~

#rl. PA/ABS
Material: PA/ABS

' 4

it sutton Q@

JI‘j'5|53|—2P/A\/I\/laterialz PA

h# M EEPA+PUSPP+PVC
Side wheel material :PA++PUBPP+PVC

—» ] 355 I B B A A

Side cover:0Optional colors

# #l: ABS /Material :ABS
#/Grey B /Blue B EMWhite L {/Red B &/Balck

= — — 7 : q*ri ‘ :
o |lol&| oo o] b e
© | H O LB

| 160-200
®78(mm) 68(mm) 78(mm) 100(mm) 85(mm) 130(mm) (KG)

69.56X34X22.5

13



—

-
3
R
I




W Buldoor

3t B%e

3—-inch caster

O ¥EE B (% ) /Optional fittings (iron)
A:3\8GX 43.6
C:59X59X2.5

e -

=y _

\,:;:A@.?_ﬁ:—;mf
S

ll B:M12X20

.-I.-

|
[T

: j

e
o ¥ X 48/Stand
N # %l . PP/Material: PP

2 GE /Button
£ #l: PP /Material: PP

H R PA+PUSPP+PVC
Side wheel material :PA++PUSEPP+PVC

—> ] 25 5 1% B 2 4B B

Side cover:Optional colors

# £l: ABS /Material :ABS

K /Grey TE/Blue B fE/White £ f8/Red 2 {&/Balck

L . .

| = 1| T BHHH(CM)
B ‘JD‘—‘ | f d T ‘ Packing specification (CM)
jE l | | Il \
" imiR] RS '
' | 52X40.5X18
©80(mm) 50(mm) l; 60(mm) 100(mm) 80{mm) i

14



W Buldoor

1.25F & [ 4 1.5 E @5
1.2 Inch fixed caster 1.5 Inch fixed caster B mm
| o= | o= §
Ol Eee QY|
I — | | B
ZF ltem : ] I\ﬁtenal
Be BE | ERRT fLEE 1& 2RBE | A
1.2 o4 31.5 13.3 37x18 29 4 40 20 PP+PU
5 Inch fixed caster
1.6 & @4
E inclonardsnivthBrake 40 23 38x28 23x13 4 25 PP+PU

Jb

2t T FHEE (Fix)

2Inch cardan casteriflat plate)

2t Tl a4 (424 )

2Inch cardan caster(screw)

F Tl T mEe (BAFHER )

2Inch cardan caster (screw with brake)

ﬁ E o =l oL = %ﬁ i ﬁ .
“ ftem F_. | Material
BE | BE | B% | RERR+ Ei: L& | BEAE | REEE A
2T E BB FIR
2 Inch fixed caster 50 23 HWE 68x48 48x18 6 64 25 PP+PU
2~ 7 B AT thi
2 Inch cardan with Brake 2 e 10x15 64 25 PP+PU
2T EBAFHF
2 Inch cardan with Brake 50 23 BE 10x15 64 25 PP+PU

16



W Buldoor

BE XL & 1| Land wind series

T EEE (84 ) T A mEE ([E=EHF )
2 Inch cardan caster(screw) 2 Inch cardan caster (round cap screw) B mm
£% item @ O « %% W iy
pE 2% ik RERE I &4
2R ER (4
T o 50 18 thE 64 10x15 25 PP+PU
2<tAm ([ BESHT )
2 Inch cardan with Brake S0 18 E 64 10D 25 RCEEE

B P 2 % Buick series

3T A EE (ETFHER ) 3 TITlAmEE ( FiF) 3T T E @i
3 Inch cardan caster(screw with brake) 3 Inch cardan caster(ilat plate) 3 Inch fixed caster Efr. mm
o Yo EE gelw
S T el l\zatenal
B BE Wk ERR ALE 1z |BRHK | R%5E EH

KRRG-S ol
3|nchfi:edcaster 75 54 ETREE M10X18 106 300 PU
jj{jiﬂf’ffi’fﬁ 75 54 RER/EET| 105x80 86x60 8 105 300 PU
. mf:fdf? fim 75 54 | EIE/EE| 105x80 86x60 8 105 300 PU

17



125 Z 5l Hummer series

W Buldoor

At AEE (FHEEH) At R RE 4~FAREER (BAFEN)
4 Inch cardan castertilat plate with brake) 4 Inch cardan caster 4 Inch cardan caster{screw with brake)
O YoM = E g el 9
— N
& ltem Material
BE | BE | #% | ERRY b 1B | BANE | REsE &
4t EBEREN .
4 Inch fixed caster 100 32 E$h | 96x67.5 74x44 8 133 80 PP+PU
A~ HEE o
T 100_‘ 32 HEH | 96x67.5 74x44 8 133 80 PP+PU
4T3 R BT T R .
Ly 100 32 EE 12x25 133 80 PP+PU
Bl il & & % Bugatti Veyron series
- >
5+ E 15w & 57 7E @ %
5 Inch flat with brake 5 Inch fixed caster BA. mm
9 O B E QY .
Z M ltem i I\%tenal
RE RE H& E®RR LB 1LE RESE EH
BT 4R T R 4 PP+PU
EleEdlat wiith b ke 126 56 35 115x100 85x70 11 160 300 +
5T3-.Eﬁ¥t\ 126 56 35 1156x100 856x70 11 160 300 PP+PU
5 Inchfixed caster

18



% O % %l Pegasus series

W Buldoor

LA B2 Mechanical Support

B

Accessories series

ZRILMNTREE
Installation indication

87

‘C—D
ol BT 3 el
75° RERTE 90° ZIER~TE
Installation sizes Installation sizes

110° RER~TE

Installation sizes

ERARA:

RATFEHERN EBARIEET,

FRAR: BXMETERERST, LBNRAFBHETIARETS , 90°
f105° (B, FANEFBIASAFARENESE, HEEENLEARE
ERERNTEEEECET S F. AEENAABLARAZRAERERMN
IR, BBREHR, '

Application features:

used in up—turn kitchen cabinet wooden door and alumimum cabinet door.
Opening angel:by changing installation dimensions,up-turn door max.Opening
angle can be adjusted st 70° ,90° and 105° positions.Up-turn doorcan
stop when opened to max . Opening angle . Other positions are random stop
state and door panel can stop at any position. Through adjustment of center

hex screw , it can bear different door panels of different weight, achieving
best performance.

19

AR AR F Standard Technical Information

FELEER FEMREAE
Finish:Chrmium-plating Materials:Zinc alloy
B FAEE & REDN

Available for:All kinds of cabinet doors
AR TR

Features:Supporting cabinet doors




Buldoor

Buldoor Hardware

647 Camino De Los Mares # 108-86,
San Clemente, CA. 92673

United States

Phone: 877-388-1366

Fax: 877-366-7596

E-mail: info@buldoor.net
www.buldoor.net




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23

